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Human personality is the result of-

‘(A) Upbringing and Education

(B) Interaction between Heredity and
Environment

(C) Only Environment

(D) Only Heredity

In which stage is the physical growth

rapid?

(A) Early childhood

(B) Infancy

(C) Adolescence

(D) School age

According to Kohlberg, a teacher can

instill moral values in children by -

(A) giving importance to religious
teachings

(B) laying clear rules of behaviour

(C) involving them in discussions on
moral issues

(D) giving strict instructions on "How
to behave"

Piaget's principle is related to Child's-
(A) Psychological Development

(B) Emotional Feelings

(C) Cognitive Development

(D) Physical Development

Among the following, which aspect is
not related with physical
development?

(A) Nervous System

(B) Endocrine Glands

(C) Body Structure

(D) Perception

The main steps of Evaluation
Process are :

(A) Educational Objectives

(B) Learning Experiences

(C) Behavioural Change

(D) All of the above
P.T.O.
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What are the main successive steps of
Motivational Cycle?

(A) Need (B) Drive

(C) Incentive (D) All the above
Piaget's first stage of cognitive
development is concerned with the
conquest on -

(A) Object

(B) Reasoning

(C) Symbol

(D) All the above

Which of the following is not a source

of Informal Education?

(A) Education given by parents

(B) Education through classroom
teaching

(C) Education by peer groups

(D) Education given by neighbours

Concept of "Education for Equality” was

highlighted by -

(A) Radhakrishnan Commission

(B) Mudaliar Commission

(C) Kothari Commission

(D) National Education Policy - 1986

If learners display individual

differences, the teacher should-

(A) provide a variety of learning
experiences

(B) enforce strict discipline

(C) increase number of tests

(D) insist on uniform pace of
learning

The concept of Intelligence Quotient
(1.Q.) was at first used by -

(A) Skinner
(C) Binet
"Theory of Experimental Learning” was
given by -

(A) Carl Rogers

(B) Piaget

(C) Sigmund Freud

(D) Skinner

(B) Terman
(D) Spearman
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School Education

depends heavily on -

(A) Infrastructural facilities
(B) Financial provisions

(C) International support

(D) Quality of Teacher Education

According to Gagne the highest level

of learning condition is -

(A) Principle learning condition

(B) Problem solving learning
condition

(C) Signal learning condition

(D) None of the above

"Motivation is the Super highway to
learning” this statement is given by-

(A) Thomson

(B) Good

(C) Skinner

(D) Bernard

Parents should -

(A) monitor children's work

Quality of

(B) arrange for Tutions

(C) periodically discuss the progress
of their child

(D) not
activities

"Ability to reverse" is not the quality of

which state of Piaget's cognitive

development?

(A) Sensory motor stage

(B) Pre-operational stage

(C) Concrete operational stage

interfere in school

(D) Formal operational stage

Which of the following options is not
included by Education Commission inits
suggestions for Pillars of
Education, given by UNESCO in
'Education for 21st Century'?

(A) Learntoearn

(B) Learn to know

(C) Learn to live together

(D) Learntodo something
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Level of teacher motivation

depends on -

(A) high salaries

(B) officer like status

(C) professional training

(D) commitment towards pupils and
profession

Which of the following environmental

factors affects the personality?

(A) Social factors

(B) Cultural factors

(C) Emotional factors

(D) All options are right

Which of the following statement is not

correct?

(A) Growth and Development are two
different aspects

(B) Growth continues throughout life

(C) Growth is one of the parts of
development

(D) Development isa continuous process

Identify the type of Intelligence which

is not related to Gardener's Theory of

Multiple Intelligence :

(A) Fluid Intelligence

(B) Spatial Intelligence

(C) Linguistic Intelligence

(D) Musical Intelligence

Identify the person to whom most

historians trace the propounder of
Special Education:

(A) Jean Marc Gaspard Itard

(B) Edward Seguin

(C) Maria Montessori

(D) None of the above

In which year, the UN Convention on
the Rights of Persons with
Disabilities was held ?

(A) 13 December 2004

(B) 13 December 2005

(C) 13 December 2(_)06
(D) 13 December 2007
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Identify the place which is not
regional Centre of 'ALI YAVER JUNG
NATIONAL INSTITUTION for the
Hearing Handicapped, Mumbai" :
(A) Kolkata
(B) Chandigarh
(C) New Delhi
(D) Bhuvaneshwar
Among the following which one is not

special achievement test —
(A) Diagnostic test

(B) Analogy test

(C) Skill test

(D) Language test

Some students are backward in

studies. What will be your attitude

towards them?

(A) Harsh

(B) Sympathetic

(C) Liberal

(D) Lovable

For harmonious development of the

Personality of the child, Parents

should -

(A) Overprotect the child

(B) Regularly compare the child with
other children

(C) Provide appropriate
environment at home

(D) Engage with qualified teachers

Which of the following is a Teacher-

related factor affecting learning?

(A) Proper seating arrangement

(B) Availability of teaching-learning
resources

(C) Nature of the content or learning
experience

(D) Mastery over the subject

matter
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First Language - English
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Direction (Q.No. 31 to 34) : Read the
instructions given below and answer the
questions that follow by selecting the
most appropriate option out of the four
alternatives available.

On his first day in office, as
President Abraham Lincolon
entered to give his inaugural

address, one man stood up. He was a
rich aristocrat. He said, "Mr. Lincolon,
you should not forget that your father
used to make shoes for my family". And
the whole Senate laughed; they
thought they had made a fool of
Lincolon. But certain people are made
of a totally different mettle. Lincolon
looked at the man directly in the eye
and said, "Sir, I know that my father
used to make shoes for your family, and
there will be many others here, because
he made shoes the way nobody else
can. He was a creator. His shoes were
not just shoes; he poured his whole
soul into them. I want to ask you, have
you any complaint? Because I know how
to make shoes myself. If you have any
complaint I can make you another pair
of shoes. But as far as I know,
nobody has ever complained about my
father's shoes. He was a genius, a great
creator and I am proud of my father."
The whole Senate was struck dumb.
They could not understand what kind
of man Abraham Lincolon was. He was
proud because his father did his job so
well that not even a single complaint

SET-A
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31.

32.

33.

34.

had ever been heard.

The word from the passage which
means -

'quality of determination to do
something successfully' is -

(A) Genius
(B) Mettle
(C) Creator
(D) Complaint

A rich aristocrat talked of Lincolon's
father to make him feel-

(A) very proud

(B) veryglad

(C) much ashamed

(D) frightened

Lincolon said that his father was a
creator because according to him-

(A) he made very fine shoes

(B) his shoes lasted long

(C) he put life into his shoes

(D) he never had any complaint

against his shoes
Lincolon showed that he was -

(A) aproud man

(B) anunusual man

(C) an obedient son
(D) ashameless son

Direction (Q. No. 35 to 38) : Read the
poem carefully and select the most
appropriate option from the alternatives
given.

In the deep kingdom underground
There is no light and little sound

Down below the earth's greenfloor
The rabbit and the mole explore.

The quarrying ants run to and fro

To make their populous empires grow.

P.T.O.



Do they, as I pass overhead

Stop in their work to bear me tread?

Some creatures sleep and do not toil

Secure and warm beneath the soil

Sometimes a fork or spade intrudes

Upon their earthly solitudes,

Downward the branching tree roots
spread

Into the country of the dead.

Deep down, the buried rocks and

stones
Are like the earth's gigantic bones.
In the dark kingdom underground

How many marvellous things are

found.
35. Thekingdomundergroundis____ .
(A) noisy
(B) active
(C) lazy
(D) none of the above
36. Thereis underground.
(A) no light and little sound
(B) Lightand sound
(C) nolight
(D) only light and no sound
37. Man often disturbs the underground
world with_____.
(A) implements and tools
(B) onlyimplements
(C) only tools
(D) none of the above
SET-A
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Deepdown, the buried rocks and
stones
Are like the earth's gigantic bones.
The figure of speech is used in the
above mentioned lines :
(A) Metaphor

(B) Personification
(C) Hyperbole
(D) Simile

The statement 'Language is culture-
preserving and culture-transmitting' is-

(A)

false statement

(B) partially false statement
(C) true statement
(D) partially true statement

A school or class to prepare

children aged five is called -

(A) Ugature

(B) Kindergarten
(C) Kelptomania
(D) Primary school

A child speaks in the beginning -
(A)
(B)
©
(D)

Which of the Pronunciation drills is the

consonant sounds
dipthongs

tripthongs

vowel sounds
means of

excellent forming

correct speech?
(A)
(B)
©
(D)

sound
intonation
habits
skills



43. A child is composing a poem with the

45.

help of a picture drawn on the black-

board. The child is using -

(A) understanding based skill

(B) knowledge based skill

(© psychlomotor skill

(D) application based skill

There are four teachers in a Primary
School. One of the teachers is on
Government duty, One is on leave due
to sickness, the third one has been on
medical leave. There are five classes
consisting 75 students. Which device
will the teacher apply in this situation
to handle the students?

(A) The teacher will provide home
work to the students

The teacher will make the
students play throughout the day
The teacher will instruct the
students to do self study

The teacher will apply the muiti-
grade-teaching device
Rearrange the following words and
phrases to form a meaningful
sentence. Choose the correct
alternative sentence :

of |and| clouds | information | weather
| send | satellites | and pictures |
storms

(A) Information and pictures send
weather, clouds and storms
satellites.

pictures, storms and clouds
information send weather.
Satellites information send
weather, pictures, storms and
clouds.

Satellites send information and
pictures of weather, clouds and
storms.

(B)
©)

(D)

(B)

©)

(5)

SET-A
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46.

47.

48.

49.

50.

51

APP-1
Unit test is an expression of -
(A) normative
(B) effective
(C) formative
(D) cognitive
"Poetry is a statement whose soul is
rasa”. This definition has been given by-
(A) Mathew Arnold
(B) Panditraj Jagannath
(C) Acharya Vishwanath
(D) S.T. Coleridge
The word 'agriculturalist' has -
(A) Five syllables
(B) Foursyallables
(C) Seven syllables
(D) Sixsyllables
The statement 'Stress is the intensity
or prominence given to a syllable' is -
(A) true
(B)
(C) partially true

untrue

(D) none of the above

Phonologically the number of semivowels
in english is -

(A) 1

(B) 2
() 4
(D) 5
"A morpheme is the smallest unit of form

that has meaning in a given language"

is -

(A) incorrect statement

(B) partially correct statement
(C) correct statement

(D) none of the above

P.T.O.



52.

59,

54.

55.

56.

ST

'A person who believes that God is
everything and everything is God' is
called:

(A)
(B)

agnostic

theist

(C) pantheist

(D) pagan

'A man who eats human beings' is called-
(A) criminal

(B) men-eater

(C) beast

(D) cannibal

To look down upon is meant for -

(A) to look front

(B) to look down

(C) to treat with contempt

(D) to look at

In the following one of the words is
misspelt. Choose the wrongly spelt
word.
(A)
(B)
©
(D)
'In order to get success, the boss has
left no stone unturned' can be replaced
with the words or phrase-

(A)
(B)

procession
performance
allied

poisse

went to the mountains

tried every possible course of
action

(C) went to the sea shore

(D) did not try anything

Choose one of the correct alternatives
in the following underlined words.

The more they get, the more they want.
(A) article

(B) preposition

©)
(5)

adverb

adjective

SET-A
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58.

59:

60.

APP -1

Read the sentence and choose the
correct alternative.

'The secretary and treasurer is
absent' -

(A)

One person is having the post of
the secretary and treasurer

(B) One person is having the post of
the secretary and the other
person is having the post of
treasurer

(C) No Person holds any post

(D) All are correct

We said to them, "who has

misguided you?" Choose the correct
alternative out of the following.

(A) We said to them who
misguided them

(B) We asked them who had
misguided them.

(C) We told them by whom they had
been misguided.

(D) We asked them if they had

misguided them.
If I had a degree, I could get a job
easily. Conditional of this type says-
(A) something did not happen

because a certain condition was

not fulfilled.

(B) that something will happen if a
certain condition is fulfilled.

(C) that the condition will be
fulfilled.

(D) When we talk about something

which we don't expect to happen

or which is purely imaginary
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Second Language — English APP-1

Read the passage given below and
answer the questions (Q. No. 61 to 64) that
follow by selecting the most appropriate
option -
The ancient Jewish doctrine of 'An eye
for an eye, a tooth for a tooth' teaches
the message of revenge. Yet Jesus said
that, if one gets a slap on one cheek,
one should turn the other cheek. That
precept is opposite of the first one. It
is basically a message of non-
violence. And that idea leads
logically te the principle of non-
violence as advocated by Mahatma
Gandhi. So we can, or should,
subscribe to the idea that taking
revenge is morally undesirable.
Even apart from the moral aspect
concerning revenge, let us consider the
practical aspect. In real Ilife
situations we see that taking
revenge is not advisable because one
act of revenge by one person leads to
the counter action by the other
person, ultimately there may be no end
to the saga of hate and revenge which
would be reenacted by the next
generation, and then the one after that.
Where would it end? We see this

revenge cycle in action in Shakespeare's

piay Romio and Juliet. Killing goes on

SET-A
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61.

62.

63.

64.

between the leading families till the
final tragedy of the deaths of the two
young lovers ends the fearful

vendetta.

The Jewish doctrine is ------- but the

precept of Jesus is -----

(A) one of revenge / one of sufference

(B) one of taking revenge / to be
patient

(C) full of revengefulness / a
message of patience

(D) to knock out the enemy / non
violent.

e T of non-violence was-----

by Mahatma Gandhi.

(A) teaching / enunciated

(B) message / broadcast

(C) precept / advocated

(D) principal / presented

The writer ------ that revenge is

morally wrong.

(A) prescribes

(B) ascribes

(C) holds the belief

(D) propagates the idea

To take revenge is not -------

because one act ------ to another act.

(A) advisable / leads

(B) desirable / proceeds

(C) Judicious / is an invitation

(D) wise / leads a person



Read the passage given below and answer

the questions (Q.No. 65 to 68) that follow,

by selecting the most appropriate option -

The idea of evolution (which is gradual
change) was not a new one. The Greeks
had thought of it, so had Erasmus
Darwin, the grand father of Charles
Darwin, and also the Frenchman,
Lamarck. It is one thing to have an idea,
we can all guess and sometimes make
a lucky guess. It is quite another thing
to produce a proof of the correctness
of that idea. Darwin thought he had
that proof in his notebooks. He saw that
all animals had to struggle to survive.
Those which were best at surviving
their environment passed on the good
qualities,which heiped them to their
descendants. This was cailled 'the
survival of the fittest'. For example, in
a cold climate, those who have the
warmest fur will live. Darwin believed that
this necessity for an animal to deal with
its environment explained the immense

variety of creatures.

65. At the time that Darwin arrived on the
scene, the idea of evolution-
(A) Was an unheard idea
(B) Had already been proved
beyond doubt
(C) Had been thought of but not
proved
(D) Was not thought fit for
exploration
SET-A
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66.

67.

68.

69.

70.

71

72.

APP-1

According to Darwinian thought, the

world of animals is marked by -

(A) A peaceful coexistence

(B) A struggle for survival

(C) Indifference towards each other
(D) Love and friendship

The expression ‘the survival of the
fittest' means that -

(A) The strong will survive while the
weak will perish

(B) The strong and weak will live
peacefully

(C) The strong will help the weak
survive

(D) Both the strong and the weak will
survive

Darwin thought that the

environment -

(A) has no effect on animals

(B) has lot of effect on animals

(C) has a marginal effect on
animals

(D) has an effect on man but not on
animals

Directicn (Q. 69 to 72) : Find out the

part that has error in the

following sentences.

My father asked me/why you were/
(8)

taking( t)hai_:/examination.
C

(D)
Ram told me/that he got up/early in
® (B8) (®)
the /morning daily
(D)
He proposed me/that we should go to
A (B)

the Disco /and then have / dinner at a
C

restaurant
©)

Yesterday I met / a man/ who was blind
() ®) ©)

with/the right eve.
(D)

P.T.O.



73.

74.

75.

76.

Direction (Q. 73 to 74) : Choose the
correct preposition to fill in the blanks-
Divide twelve mangoes-------three
boys.

(A) to

(B) for

(C) between

(D) among

Please write------ ink and put your

name --------—- the top of the page.

(D)
Direction (Q. 75 to 76) : Choose the

into, over

word which is most near to the
meaning as the word given in
capital letters.

IN TOTO -

(A)
(B)
©
(D)
PREAMBLE -
(A)
(B)
©
(D)

in the heart
in peace
with in the walls

entirely

digression
introduction
explanation

background

SET-A
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77

78.

79:

80.

APP -1

Direction (Q. 77 to 78) : Choose the
word which is opposite in meaning to
the given word.

Confess

(A) Refuse

(B) Deny

(C) Contest

(D) Contend

Alien

(A) Native

(B) Domiciled

(C) Natural

(D) Resident

Direction (Q. 79) : Select the most
suitable alternative and fill in the blank.
The passengers were afraid but the
Captain------ them that there was no
danger.

(A)
(B)
©
(D)
Direction (Q. 80-81) : Rearrange the
parts (PQRS) given to make a correct

promised
advised
assured

counselied

sentence.

The social worker devoted ------
to the upliftment

of the people

his entire life

of his village

QRSP

PQRS

SRQP

RPQS



81.

82.

Without books

P - no cultured society is possible

Q - no fresh ideas are possible
R- and

S - without fresh ideas

(A) QRSP

() PRSQ
(C) RSQP

(D) RSPQ

Direction (Q. 82) : Substitute the
underlined word in the following
sentence to make the sentence
correct. If none of the substitution
improves the sentence choose "D" as

your response.

The sun was shining such brightly that

Leela had to put on her sun glasses.
(A) very

(B) too

(C) so |

(D) noimprovement

SET-A
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83.

84.

85.

APP-1
Direction (Q. 83-84) : Each of the
following idiom is.followed by four
meanings. Indicate which one is-
correct.
To face the music:
(A) to prepare to give a music
performance
(B)
©
(D)

To leave no stone unturned:

to suffer evil consequences
to suffer hardship

to change the things

(A) to keep clean and dirty

(B) to try utmost
©

(D) to change the things

to work enthusiastically

Teachers do not give the meaning of
new words to learners directly because-
(A) learners do not like to be given
the meaning of words

(B) learners already know the mean-
ing of the words

learners from

©

It prevents
discovering the meaning through
puzzling out using clues.

embarrass the

(D) It may

learners.

P.T.O.



86. Which statement is not correct?

(A)

(B)

€

(D)

87.

The teacher who is providing

remedial teaching must
understand the learner's strength
and weaknesses.

The pupil needing remedial teachig
are generaily talented learners.
Pupils needing remedial teaching a e
temporarily low academic
achievers

Remediai teaching helps learner tc

develop positive attitude.

Which of the following is not the

objective of the continuous and com-

prehensive evaluation?

(A)

(B)

©

)

SET-A

To make the process of teaching and
learning a Iearner-centll’ic
activity.

To make evaluation as integral part
of teaching learning
process.

to lay emphasis on thought
process and de-emphasise
memorisation.

To give some relief to the

teachers from the burden of

annual examination.

[22]

88.

90.

APP-1

In which form of learning we

require higher menta! process like

thinking, reasoning?

(A)
(8)
©
(©)

Conceptual learning
Motor learning
Verbal learning

None of the above

Learning disability in motor skills is

calied -

(A) Dyspraxia
(B) Dyscalculia
(C) Dyslexia
(D) Dysphasia

In the learning process, mistakes are -

(A)

(8)

(©

(D)

unnecessary eviis

very important to achieve

success

more important then success

ignored



q&ra%uas:mﬁ:gﬁa:ma:mﬁqtaﬁqq
3 T: JeTs: TR Y ) voaT By
S Ty IRH 3% ST & o
31 FeraTeh AR Froffes: vy 59 wfcrfay)
& s 7 e g 31 fore 5 4
sfciie arf-2mEr T Bk TSl aFR:
mmwmﬁﬁxmﬁalmﬁwﬂa}
& smwety wfe) ey TegRfoT
SR el ey SRy -

Tafer SieAROTRY ey gesfy

Y o e el St erafor |
61. 3mHger &: gRa:?

(A) o3 (B) guk

(C) wet: (D) FrifY:
62. 3mEge: FAR »

(A) Y (B) Fuwny

(© =& a (D) TR
63. FuRfeRad mrer sy @0

(A) a=R: (B) gar:

(©) wem (D) ISy F7=g:
64. i oY Ryen swafyp

(A) wrgfaen (B) wgfaer

(©) srefyen (D) afgen
SET-A

[23]

65.

66.

67

68.

69.

70.

9 ToOCT QT TS| a7 Sy wigsed) arfey
s N ! 318 g &13: E'ﬁ:,

AR &%, A @@t o T 378

99 W BRI qyeg CHREEE

e Rig o s |

Rie: o6 qup & STROT?

(A) &= (B) xaew

(C) AT (D) R+

Rewr o¥R & g

(A) 7v: (B) fosm:

(©) Ty 0) 3=

. BT tifea: g2

(A) Twd

(B) fazar

(© ToF F+

(D) gyermr

IR0 e 39 3% g FRAY?

(A) 3mHgery (B) 3wawr garr

(C) wegs= (D) warigersy

RRuer gev <afrar Sishas

(A) sRE: (B) wayfer:

(©) wefeR: (D) =re:

afﬁqm%agfsﬁésmm%m?
(A) IST=ERY, yare, wEnfyear

(D) (A) (B) gai:
P.T.0.



71.

725

73

74.

75¢

76.

778

78.

79.

FERRIT: VNG Diea: &:?

(A) daged dem (B) 3iSigun el
(C) d=-&%dl (D) @ISl A
fRreror fodr: BTN 91 WUSR faeiig e
a1 fosan Sugaan wafa < -

(A) wTST BEE foar

(B) TTI-idia uied foma

(C) g WMl fesar

(A) wﬂﬁ@ﬂwmaﬂdﬂn
(B) FRAFHBI BIANT W& adienaH|
(C) wuRm: BiiS< qaal Rieor|
(D) wd

gt 3fd w3t vEs disd:?
(A) IEMf: (B) T=t

(C) <T=m (D) emffEERY
(A) TT+3T+P+ g

(B) fa+3ms + & + 3

(C) &+ 315 + B +3M

D) T+ +3m+aq

T GO TR JaTeR0T fbH?

(A) SISTEHUT: (B) 3TTUH
(C) fazawuq (D) 3IWTTH
AIE: A U AT ?

(A) 3G (B) 37QICT:
(C) 3R (D) 3MATGE:

SET-A

80.

81.

82,

83.

85.

86.

87.

88.

89.

90.

(A) T (B) @HH:
(C) &< (D) 3T R
HEy: Svawd 3 3feaRaa:?

(A) WTCTIPIRAEA

(B) TEERTRA

(©) e gl

(D) YERTEd

FfiRe” o &: ofd: aRe:?

(A) oS (B) ifciar:
(C) Iea: (D) WRfa:
a3 o= & fauRe:?

(A) e (B)

(C) Ut (D) Tt
HEHIIH Ua B¢ GHR:?

(A) BHYIRG: (B) &

(C) TgTs: (D) 3TTAIE:
Tl gee:” 3fd g afkaant &
faufes:?

(A) fectan (B) qeiram
(©) wgm (D) gt

"HIBR: B ghi gald” 3R g
BEW: UC T PRD:?

(A) 3URH ®R®: (B) TBEH PRE:
(C) oXUl HRd: (D) DY PRE:
Pard GG 9ad: ol

(A) o7 @ gId

(B) ¥4l IM: ¥

(C) W: 3ed Wl

(D) SOF T: G

e ue At fagal

(A) & afer: (B) fo=wt wfen:
(C) Ty wfe: (D) ydwy |
U UeRd Ay fowse od|

(A) ©IR + 3ig:  (B) Al + 309
(C) o +3®: (D) o + 3
TR T B THR:?

(A) T (B) s

(C) @ (D) faferfers;



wrST fgeia - 35

U BE I ALl S
e BBy A Gesderie s

IV A I 5 )
Voo Tbwe )Tl e & £ osis
Py e TE Yol sG2U 6
e tT

L T3P Ll (GL erf$1 fi
St U a8 A0 T e S
BU NP L eI S i §
B SMBIAON 1) 411 Bl B4
Btk
Sertbe, il & Lupsm  _61

2 TESA (A)

P (B)
s.“-dTL}/V ©

(D)
LV AL TR

GUIMES (A

¥ TJ’_/ !

-62

Skl (B)
e uﬁc{ (,( Lkt (C)
Jukig oL (D)

SET-A

[25]

(30 ULl ¢ U UrPnt iy
A (IR L e J ety
PLECDZ e et 23 P
Lt ety (Dl e 2
Irsee FALEL L I mpssins
e bt L Lozl
f&&/&iu’#{d:ﬁ/;@:'ﬂ FoiR f;fvf
et/

Ao

68E61 412 y e s 1 580
5, ..,.,e‘:‘sw,y'-gg_a’_..-.yzéu)fr

9512 e Do Tho thush LT % 250
FUIMFERL ALy et
S SRS A S B}
e ol LA TS S G Tl sal
L et Tgf'.lmf’c,rté e TS 2
g AU L0 e Bopie 8T
F- L S22 8% 8% g s
A en e B L g PSS
B Ghnd s Sie U e LA
igac Felalolee it git)



UUIU:L.J[,L_‘u Tl ‘Uy
fewrnal
;9..{!7’ [ (u:_./ri’zﬁ SuTuss (A

[

AN PR TS (B
AN g foz s TCel
bE A KU P Tl (C)
/f?jut.wff o
Zz. (e S (D)
AL K Tl 2
syt
S‘p.'l.(gﬁcxﬁdzﬁ -67
A T s (W)

AL e Tl s (B)
JauT

Lo et ©

AL e il ey (D)
JauT

SET-A

[26]

APP -1

e Gobabatids
éfgﬂ 5y T‘}}}}’Jﬁ’&J TJ” (A)

e/
FaFsdde S B
4‘:._‘47

E A O gy W il (o
&
NPT skl Tf (D)

e [ﬁ[c:.— =2 TQ/"

e Udfs
pa ()
ol (B)
(s (C)
Al (D)

PR AS N -FY N 4
SGisdessn (B
SuskLliat (B)
Suss= i (C)

Suw2susz (D)

-64

-65

P.T.O.



’Jhul.),/»cfg‘gpugﬂ

bhutag.(;/cpﬂcﬂ;;.dﬁg (D)

(©)



[sz]

1'd

e me s ) P LS 29
frrmﬁ’:-
4{4."s‘mrmf;/wﬁ«?;f/«ﬂp
rfﬁyﬁ‘g."fﬂjj"??““/pm?/;rfn7
s ig 3 i RIS
/‘J/rié‘zgﬂétrﬂjmrf@/é‘?;“wf
WA E QAT )
“f7f?’j?5\f-“|’(ﬂ;ﬂf‘jﬂ‘mﬁm
857
995‘7"'“’7"“”7‘?}5“(’
frﬂzs“p;g:‘vwf{r*v‘f,f’wgl_é
i ;
@ J9f
Q) ‘.,(’n.fJf
@ 775
00T

Ry LA ;*’-;w;r’zm

1-ddV

v-13S

a‘-?éf-’quj‘?x.rma@%-

\LePaal s =S BT T
#0 S AR A
el ALl /.gﬁ’s‘feL{?ﬂ:/‘zﬁ’
P>
g AL 00T
e ;ﬁ@w?ﬁ;zmgéwfw‘vg
: 4m{sf‘ﬂ7‘?wiﬁﬂ‘7;gzclf,gp

2 prz‘()"?-

Sl 947

m;ﬁﬁfr’;’m‘;{“ﬂfjfrmﬁq
el o

gy rorema.dimd A iofes
{M‘?wmqfa‘fw@‘f”‘f’tg% ahaly
Paics

55;7*?8\”("9‘5“159‘,

‘575’lﬁj‘{fﬁ’*’."b‘{j‘-"»"-:."n‘fﬂ{"'»‘u_d?

Nﬁvﬁﬁ?ﬁfﬁ;%pr%ywiﬂ?r@



fewhbotlz .81

JtH
/:5.
Vit 4

Fi

(A)
(B)
(©
(D)

&m AL ]"b/:lv’f-:j T llin

12321512379
237951 321
1233502397

397 1siae 312

S
¢-Y)
(B)

©

((s))

S PtEUAdb L sttt L

ST
St
4 B Téﬁu&(

s

-

(A)
®
(©
(D)

L‘J’-U,?JWC—JJ;JQO?&@UV
2 WG EL L ezl

SET-A

-82

-83

ecly

[29]

APP-1

S Lo iin ol
ﬁ"”éégnﬂﬁ A)
AL s (B)
Y- (o))

Al (D)
by lu'.’JU) z‘-’v
< lrx €:Y)

c‘:..lﬁjal&&. (B)
%Jkd/" ()
ey (D)
?q_.zﬁ‘eufd’_.b:ufa)twé_/ﬁﬁﬁ

dt (A)

I leshit  (B)
% (C)
u:’»{}&»l'}i (D)
o ./’/b/u;ﬁfvl.&"/»
Sleshhst  (A)
J(fuf (B)
=Asi  (C)

L’U‘J"J& (D)
?},’ﬁ”aﬁ?) ”t‘.fhc,'(:,c(z

i (A
aS ®
Jrei (C)
s (D)

-76

-7

-78

-79

-80



I L L3 SuE 8T

v
Lu’*)f?'a;aglf‘uf%éb (A
JAL GBS Gt (B)
LLeylogd LiS
S ST 08 O
H e B
aﬁwwﬁtéﬁ;té_zséuﬁx
LS
L):»;@:.{Sb&tgé&wwéé‘z?
tpEete Qeliind £

(©

(D)

G @B

Saduel  (B)

P ©

et (D)
shorsird £ SN St
e

Ikl (A
b’:’/ﬁélr’» (B)
Ao bz (©
g2 (D)

e G b oS
J.‘? Bz (A

L (B)

5 B (o

LHi O

SET-A

-88

-89

90

[30]

APP -1

e endpbud

Ul QUASLASEE (D
ﬁ'—-dﬂ/}’ CJ./’U:
oLt
GE S
peIuil L use /gl
9—&‘)&54’/’ tor

QU bHepal P
Ut Jn}y‘,,-fuy/;

Ludl :957 T.,Aé:u’-’zid:wf}.

L S ftat

g F S Swie it (A
L

Sy FSm L eld
‘Cq LMJ’.{L/G&‘}-‘.’?
SRS SO LS
L

bk ML R iSutd
Ly e

ebobs U QS 3L S5
. et

(A)
(B)
(©
(D)

(B)

©

(B
©

(D)

f td@:’ﬁ-"

Seoy el
Selsiy

S oyt

(D)

-84

-85

-86

P.T.O.



R

Mathematics APP-1I
91. TP FOUNE® URAT §&AT &I PN e 91. Multiplicative inverse of a negative
& rational number is-
(A) TP TS URFT I (A) a positive rational number
(B) TS FHUNHS URWT G¥=T (B) anegative rational number
© 0 (€. 0
©) 1 i
1
3 1 i i i =
92. Wl ¥ ve weE & WG B R - e 92. One fruit salad recipe requires > cup
Y & savaEar 21 wat B 3@[ TeE &Y of sugar. Another recipe for the same
T 30 T ¥ B @ gmg I B fruit salad requires 2 tablespoons of sugar.
i
1 i ; £
asaear &1 aft 1§57 TR — T ¥ If 1 tablespoon is equivalent to 16 cup,
how much more sugar does the first
recipe require?
TR P MagaHar 27
- oy =
(A) g ™ g cup
(B) A Y B 2
I e A (B) goup
3 3
©)F 538 Q@ g
7 s A
93. 3i®s 9,8,4,3,2,1,6, 4,8, 10, 12, 93. The range of the data 9, 8, 4, 3, 2, 1,
15,4, 3H IR & - 6, 4,8, 10, 12, 15, 4, 3 is -
(A) 15 (A) 15
(B) 14 (B) 14
(C) 12 (€ 12
(D) 10 (D) 10

SET-A [31]



94.

95.

96.

P e, S Y sifeel @ weREa &Rar
2, 31 v Wad B9 ¥ GHY 31T & 3FER
qeerd Y& 8, e #

&3 3MorE

U A

(C) 3ma =

(D) T 3R

HME IRR # @ 100 S da (@)
£ 39 T 9 Ui ®9 # fomar s
Tl &

(A) 10°

(B). .10%°

(C) 101!

(D) 1012

A9 & U9 I 99 &6 &

(a) T3 r 3R Fai€ h 916 v SEHIER
g A

(A)
(8)

(b) Bz 2r 3ik S 2 I U SeTPR
g9 B

(c) Bl r x r x h TEAT TH THIBR
9 C
39 ST B D ATHI & IFIR 3R

9§ Tawn ® -

(R)
(B)
©
(D)

A, B,C
B, C, A
C, A B
ZaRerd el f6d 3 Hebd |

SET-A
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94.

95:

96.

APP-1

A graph that displays data that changes

continuously over periods of time is -

(A)
(B)
©
(D)
The human body has about 100 billion

bar graph
pie chart
histogram

line graph

cells. This number can be written in
exponential form as -

(A) - 10°

(By: 10*°

ey ot

(D) 102

Ramesh has three containers as below-

(a) Cylindrical container A having
radius r and height h

(b)

Cylindrical container B having

h
radius 2r and height 5

(c) Cuboidal container C having
dimensionsr x r X h

The arrangement of the containers in
the increasing order of their volumes
is -
(A)
(8)
©
(D)

A, B, €
B,C, A
C,A B
Cannot be arranged

P.T.O.



97. O B U AGR ¥ T AEOR H gae
R, T FER BT A -
(A) ¢ 3T &
(B) Hc SCm &
(C) T& & &
(D) T & I 8
98. & 0<p<q<r<saAp, q, 1, s Pid
£ a3 N 9 B 87
p+q p+s
(A) r+s ®) q+r
g+s r+s
@ v o B ey
99. dadfmHasiRbsE
i
a m
b
< / =
(A) UHIR Ti& DIUT
(B) | ®IUT
(C) UHaR 3id:DIT
(D) 3eafeR FHE BIUT
100. TF Brys & Yol O Rl (L)
10, 6.5 AT a &, 57l a 6 f = 2l a
@1 gAad I & Hadl © -
(A) 3 (B) 5
(C) 6 (%) R
SET-A

97.

98.

99.

[33]

100.

APP-1

During conversion of a solid from one
shape to another, the volume of the
new shape will -

(A)
(B)
©
(D)

Given that 0<p<g<r<sandp, q, I, Sare

increase
decrease

remain unaltered

be doubled

integers, which of the following is the

smallest?
P+q P+S
& r+s ) q+r
g+s r+s
el B e

In adjacent figure, a and b are

l

b
/ n
(A) alternate exterior angles

(8

(C) alternate interior angles

N

corresponding angles

(D) vertically opposite angles A

The sides of a triangle have lengths
(in cm) 10, 6.5 and a, where a is a
whole number. The minimum value that
a can have is-

(A) 3 ® 5

© 6 B



101. 3fe (x+y) BT 15%=(x-y) B 25% &, ATy
&1 fpan ufdea x & s=% ame?

(A) 10%

(B) 50%

(C) 200%

(D) 400%

: 67

g2

102. 7/_8

(A 6

Dlw

(o))
| W

8

~
N | =

©)

T

o 7

103. T vs Prger & Yot 3:1%:3%35
Fgura & € ot Py & -

(A) @ B

(B) siftreor gt

(©) =g gt

(D) wHfgeRg Py

SET-A

[34]

APP-1
101. If 15% of (x+y) = 25% of (x-y), then

what percent of y is equal to x ?
(A) 10%
(B)
(©)

(D)

50%
200%

400%

6
S4B e
102. By how much does 7/8 exceed

6/7?
8

3
(A) 62

3
(B) 6§

1

€ 7

5

o)

103. If the sides of a triangle are in the ratio

3:11: 3l

2 2’ then the triangle is -

(A) Right-angled triangle

(B)

Obtuse-angled triangle

©

Acute-angled triangle

(D)

Isosceles triangle

P.T.O.



104. IfE ABCD T Thid TqHst & o

105.

/A =4x°, zB=7x", «ZC=5y°

T «D =y° &, 99 x : y BN -

(A) 3:4 (B) 4:3

()54 (D) 4:5

fEdfR o eram e -

(A) PrpmeR RIS
(B) 3a®eR RIS
(C) 3maerR ST

(0) PrpmerR B\

106.0% ARb a [GHL. & R P b Gel § T

Rl &| 3P GRT 200 Hiex T a9 B A
T T BN -

b &

A -

(8)

©)

® —

SET-A
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104. If ABCD be a cyclic quadrilateral in which

ZR=a° ., ZB=NE ,5/C= 5y°

and /D =y°, thenx :yis -

(A) 3:4 (B) 4:3

€y 5:4 ®): 45

105. The name of the given solid in

106.

figureis :

(A)
(B)
©)
(D)

triangular pyramid

rectangular pyramid
rectangular prism

triangular prism

A man walks 'a' km. in 'b' hours. The

time taken by him to walk 200 metres

iIs=

(A) % hours

(B) % hours
(©) % hours
(D) ZOaOb hours



107.4& (2+43) a =(2-v3)b =18 @

1

(A)
(8)
©)
(D)

b
1

2

1
St p A

243

4

108. TH T DI YR DI T B TS & &
IR & T ¥ 3uE # -

(A)
(B)
(®)
(D)

1
2 45
-
2

1

2
3
3

109. F=fefea & ¥ fog ser & &fas 3tk
JeafeR AN & FHig IEn &2

(A)
(8)
©)
(D)

X

E

M

K

110. (100)*? x (0.001)® - (0.0016)"*

—Tasr A & -

[36]

APP-1

107. If (2++/3) a =(2-+3)b = 1 then

1L ik
the value of 5 + — will be -

(A)
(8)
©
(D)

1

2

243

4

b

108. The ratio of the number of sides of a

square to the number of edges of a

cube is -

(A)
(B)
(©)
(D)

1
1L
18
25

1

2
3
3

109. Which of the following letters have both
horizontal and vertica! lines of

symmetry?

(A)
(8)
©
(D)

X

E
M
K

110. The value of (100)¥? x (0.001)"3 -

-1
(0.0016)* x3° + G) oy

(A)
(8)
©
(D)

1.6
1.0

0.8

0

P.T.O.
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111. WA dIE - 111. Simplify -
1 +[1+1-{1+1+-(1+1+2)}] ; 1+[1+1-{1+1+(1+1+2)}]
(A) 1 (a) 1
(B) 1/2 B) 1/2
(C) 3/4 (C) -3/4
(D) 5/8 (D) 5/8
112. I 7 1 R 1 9 &7 IR &5 1 T, 112. If the simple interest on ¥ 1 for 1 month
s is 1 paisa, then the rate percent per
annum will be -
(A) 6% (A) 6%
(B) 8% (B) 8%
(C) 10% (C) 10%
(D) 12% (D) 12%
113. 98 Ga% 951 ST fo5790T iRl § AiHde 113. The greatest number which on
P TR 5000 T 2N, & - rounding off to nearest thousands gives
5000, is -
(A) 5001 (A) 5001
(B) 5499 (B) 5499
(C) 5500 (C) 5500
(D) 5999 (©) 5999
114. I a, b, ¢, d, e Ufg HaFE fova F=aR—d 114. If a, b, ¢, d, e are five consecutive odd
&, a1 379 3ia 2 - numbers, then their average is-
(A) a+4 (A) at4
(B) 5 (B) 5
(C) 5(a+b+ct+d+e) (C) 5(a+b+ctd+e)
e
@ 5% © £

SET-A [37]



115;

116.

117

7T fawa oI IoAH B35, 3R 8. e

™ § ,

(A) 2006 ® WI.§.0H.3. gRT yanaq
USaHH

N

(B) 2006 # 15 818 BRI YRANAd UIGaHH

(C) I UIeTR™Al B WURET - 2005

(D) < Rrem Hif-1986

e # fremit o v iR ek &

wEs » foe afafea & 9 a9 @

Heaid et Tgeh & Hal &2

(A) Sita g, uwiferal, Sre-ufe
LR

(B) Wi uien, Hre-Ufe owier,
HET DI TEHIRIT

(C) Sita g, Urcwiferal, URAST, Ham
B FEHIREr

(D) urwifera, sRAs=, Hr-F=ae
oRreT

T # gRdar & foe Fr=foiea & & o
T Ueoh JTREA! &l 2?

(A) fer

(B) fava & spla
(C) wen ugfd
(D) uETaf

SET-A
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116.

117

APP-1I
Present NCERT text books on
Mathematics are written keeping in mind
the recommendations of ----
(A) Syllabus prescribed by CBSE in
2006
(B) Syllabus prescribed by State
Board in 2006

National Curriculum

(®)
Framework - 2005

(D) National Policy on Education -1986

Which of the following strategies can

be used to assess Ilearners'

interest in and attitude to

mathematics?

(A) Check List, Portfolio, Paper Pencil
Test

(B) Oral Test, Paper Pencil Test Class
Participation

(C) Check list, Portfolio, Project Class
Participation

(D) Portfolio, Project, Paper
Pencil Test

Which of the following is not a
contributing factor responsible for

Mathematics anxiety ?
(A)
(8)
©
()

Gender
Nature of Subject
Examination System

Curriculum

P.T.O.



118.F7 # & Fa1, adA § TG Rieror & v

119.

120.

T T 27
(A) Tt Riee ot Rieor i

(B) IO 3URUIT BT WA R B &7l
(C) & Taed & drgar
(D) Rreor BRRT & 59

TG % FEIAeN HET-oe | ghe afed

& fore et @ar it ane

(A) RenREr o oy Ries & ae 9o

(B) 3o fore dolcus sreame=-3iem iR
IHeH TS B AHBE B3

(C) TN & §eot Bl TAT 9 & &

(D) TG ¥ 3= 3% UG B TIE P

HI 39 Flg &1 &l
@ st & AN H B 9§ IR S
W SR &, SN 6x+2=8x | T UBR B
I o1 e & -
(A) FBIR

(B) YHHURS FfC
(C) WHeaTHS e

(D) TRAE FfT

SET-A

APP-1

118. Which of the following is the major

119.

120.

problem of teaching Mathematics?

(A) Teaching methods of
Mathematics teacher :

(B) Ability to use Mathematical tools.
(C) Class Room operations

(D) Knowledge of teaching

methods
In an inciusive Mathematics classroom,
what would be your strategy for
addressing the needs of visually
challenged learners?

(A) send the learners to special
educator
(B) Design

learning and assessment methods

alternate teaching

(C) Offer them another subject in lieu
of Mathematics
(D) Pair them with high scorers in

mathematics

A very common error observed in
addition of linear expression as
6x+2=8x; this type of error is termed
as —

(A) Clerical error
(B) Procedural error

(C) Conceptual error

(D) Careless error



121.

122:

YaRoT 3T

Environmental Studies

APP-1

aieRoT & Rl B 91 T2 3N
a7
(A) waiaRor ifde dcl o wgg @

(B) Yafawur g¥en fRR & &
(C) udfeRur # &g fafaerar ar &

(D) UiaRoT 50T Td TauIgoT iR 3menRd
g
gaiaRor Ren & fole SR R o
_q 8? '
(A)
(B)
(©
(D)

UNEP

UNDP

IEEP

UNESCO

123.@IRe® & TF: 399N & SRM e aren

124.

T STERIen W & -

(A) sEfmE

(B) dhsfm

(©) sRam

(D) SrAfeEH

1983 ¥ THicd § ‘Fud! T_IeH B aof
W GIieRUT WREUT & [T B A1 e

[ gar?

(A) i
(B) digHT
(C) 31

(D) T

SET-A

[40]

121.

-~ 322,

123.

124.

Which statement is wrong about

environment?

(A)

Environment is the group of
physical factors

(B)
©)

Environment always remain stable

Environment comprfses
r'egipnal diversity (Zonal diversity)

(D) Environment is control and

autotroph based

Which International organisation is for

environment education?

(A) UNEP

(B) UNDP
©)

(D)

IEEP
UNESCO

Most poisonous byproduct during

plastic recycling is :

(A) Ammonia
(B)
©
(©)

In 1983, in Karnataka which movement

Cadmium

Barium

Dioxine

was started similar to 'Chipko
Movement'?

(A) Appiko

(B) Pandurang

(C) Amma

(D) Gubbi
PITIO L



1253

126.

127.

128.

129.

=1 % ¥ 3 w1 werfacor s @ 22y

e §?

(A) wafeRoT & 9fr YT S e

(B) HMd vd Y G BT O
GEECH

(C) uvaieRYT o FE wHe Rolia a=ar

(D) UIROT & Ul B FUEET

3fare & -

(A) 3IES

(B) 3uI<HI

(C) wmPHER

(D) 3mEEs

SIeell BT IMBR R Far & -

(A) 3T vd G ®

(B) TOT & vE W

(C) arfiERUT T W

(D) AR Hg ®
ﬁmﬁ%wmn@w?@ﬁﬁaﬁ
IS (Wobas) & ¥U F fodr wanr Rear
ST &2

(A) SHEBRECH

(B) Stare

(C) AN

(D) wrEHB

S @ I Sifaes sifadiisr & 5hr @
Hobd el 2?2

(A) WD JguoT BT IoT W

(B) TEwIfcTe UguoT &1 fFF wR

[41]
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126.

127.

128.

129,

APP-1

Among the following which one is not

the objective of environmental
education?

(A) Create awareness for
environment
(B) Understanding interrelationship of

humans with rest of world
Develop actual understanding of
environment
Understand
components
Algae are :

(A)
(B)
©
(D)
Size of clouds depends on :
(A)
(B)
©
(D)

Which of the following is used as

©)
(D)

environmental
Producers
Consumers

Herbivores

Decomposer

Height and temperature
Direction of wind
Evaporation cycle

Hygroscopic centre

biological indicator of sulphur-dioxide

pollution?

(A)
(B)
(®)
(D)

Bryophytes
Algae
Pseudomonas

Lichen

What does water's high biological
oxygen demand (BOD) indicate?

(A)
(B)
©
(D)

High level of microbial pollution
Low level of microbial pollution

Absence of microbial pollution

Water is pure



130.

131,

132.

133:

7 # @ 59 Evs Earew.) afoRa

HeIT BET ST ol &7

(A) Pres ar A ™ guREs a1 &

IR W

e ¥ weiftie sufReifa

menm # gof Frreran

HeT YA gBl, AN Bl T

gfeeiear Tl o/’

qfeaRoT 37ETTT & HEGYol RIeT Ragr

FIF

(A) TaTaROT T GRADI BT DD
JanT

(B) 3MeTTH TWTEH & w9 H GATGRUT B
TN

(C) ©HEl o AftS J RS TEBR

(B)
(©)
(D)

(D) 3IRRFH T

i foq oRferfeal & gafexer sreags

e §&R &7 ¥ U 9o &2

(A) a3l ¥ 3re feror &

(B) UAfaRUIfgal & S &b

(C) WIpfcics, ATHISTH Td HIFpIcId
uRfefaal 4 sex

(D) 3P H F IS -l

TTEROT 31eAd ¥ Ul el &

(A) TfaRUT TR&0T TRPR B fSTFRR! &

(B) UIEROT WREI0T Upia @ {FHERT &

TfgRoT TREUT IRBR & I BRI
T TR 2

©

(D) IWrH T

SET-A
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130.

134

132,

133.

APP -1
Which of the following is considered a
motivated EVS class?
(A) Remedial work given by the
teacher
(B) Maximum attendance in the class
©

(D)

Pin drop silence in the class
Questioning, experimenting and
brain storming done in the class
One of the important pedagogical
principle of environmental studies is :
(A) Maximum use of environment
related books ;

(B) use of environment as learning
resource

(C) Maximum homework to
students

(D) All the above

In which condition students can best
learn environmental education?

(A)
(B)
©

Excellent teaching in classrooms
Talking with environmentalists
Exposing them to natural,
social & cultural environment

(D) None of the above
Environmental education help us to
realize :

(A)

Environment conservation is

Government responsibility

(B) Environment conservation is
nature's responsibility

(C) Along with Government,
environment conservation is our
responsibility as well

(D) All of the above

P.T.O.



134, YHIGRYT 3EATH S TIE U & :

135:

136.
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(C) @9 Helkwa
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134.Main aspects of environmental

135.

136.

1S7.

138.

education are :

(A) Environmental Education &
Conservation

(B)

©

(D)

Trees help in reducing the pollution of

Cognition, Affect & Behaviour
Ethics and Culture

Ecology and Development

our environment. Lakhs of trees are
planted by people in the month of July
every year. The occasion is called -
(A)
(B)
©
(D)
pH of Acid rain is :
(A) More than 5.6
(B)
©
(D)
National aquatic animal of India is :
(A)
(B)
©
(D)

International Biodiversity Day is

Forest Conservation Day
Plantation Month
Van Mahotsav

Wildlife Week

Less than 7.0 and more than 5.6
Less than 5.6
More than 7.0

Saltwater Crocodile
Olive Ridley Turtle
Gangetic Dolphin
Gangetic Gharial

celebrated on :
(A)
(B)

22 February
22 March

©
(D)

22 April
22 May
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(B) HERI

() "=
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(A) UG

(B)

(C) aREHRR

(D) HTHRIES
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TR (JTT) B TERT &7

(A) 3T el

(B) foei wH

(C) dTa FHS

(D) 3§ TEE
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APP -1
Monal is a National Bird of which
country ?
(A) India
(B) Bhutan
©
(D)
Which

Nepal
Pakistan

of vertebrates

group
comprises the highest number of
endangered species?

(A) Birds

(B)
©
(D)
Ginkgo is known as :
(A)
(B)
©
(D)

Which ancient Indian scholar claimed

Mammals
Fishes

Reptiles

Living fossil
Bird
Animal

Reptile

that termite mounds were indicators of
groundwater?

(A)
(8)
©)
(D)

Which Indian religious sect has the

Kanad
Garga
Varahamihira

Bhashkaracharya

traditions for saving Black Bucks?
(A)
(B)
<
(D)

Arya Samajists
Bishnois
Vaishnavas

Shaivaites

P.T.O.
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144. The business of Pashmina Shawls in

145.

146.

Jammu & Kashmir has caused a large
scale exploitation of which wild animal?
(A) MuskDeer
(B)
©

(D)

Chiru

Rabbit

Barking Deer

Which constitutes a major part of
Antarctica vegetation?

(A) Shrubs
(B)
©
(D)

Mosses
Grasses
Lichens
Which of the following is an endemic

species of India?
(A)
(B)
©
(D)

Asian elephant
Lion Tailed Macaque

Whales

Panda

147. The 'thickness' of stratospheric Ozone

layer is measured in :
(A)
)
©
(D)

Centimeter
Dobson unit'

Decibel (dB)

NTU
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APP -1
'Fly Ash' is the waste generated by:

(A) Hydropower plant

(B) Thermal power piant
(C) Geothermal plant

(D) Windmills

Centre for Environment Education is

located at :

(A) New Delhi

(8)

Dehradun

(C) Ahmedabad

(D) Hyderabad

Which one of the following

objectives is not required to teach

Environmental Studies?

(A)

To develop sensitivity towards the

physical and social environment

To memorize basic scientific

(B)

concepts and principles

©

To provide opportunities to explore

the environment

To develop skills like observation,

measurement, prediction and

classification

PITIOI
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Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate has

to select the questions of only one language as

the First language. Answer the questions of the

language which the candidate has selected as
First language in his/her application form.

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First

language cannot be taken as Second language.

Question Nos. 91 to 120 are related to
Mathematics.

Question Nos. 121 to 150 are related to
Environmental Studies.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If
you cannot answer a question, proceed to the

next one.

Do not fold or damage the OMR answer sheet

any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question Booklet.



